Soi | Mechanizs
M"J lerm E Xam

Name « Mol\aMMao( A[—gu}a:'}]
ID: 18136

Ql: @ -Prom +‘ne 3@[3;\: D,D:O.B mm

@ D30= .42
D(o = O.CI
Cu: D__éﬁ_ = o‘q = éng
Dio o3

@ Co) . Lo

—

Dis D¢, (“q)(”g)

@ OCCofcl:‘nj to USCS Gravel = L{%
Sl Gl e
hes = 46 %

@ AASHTO ferceat ﬁ"tf on No2oo = .6 oo éBS%
LL: &% PL:S b Pj-_—_ 5 |

A-1-b G *
/

o1 O i



GISCSE Opmpetr <i15%
| gmc".’ ql-""/' >50 /A
hesS = "fé'/o

W 5 [ 7T 5
S 4 PT < 3




QL) Ny = 1¥56

Oy (ompacied Bt) = 18
w= 3%

K’(Compaaa/ﬁ-ﬂ) = U - 13 = 4,443 i

4w o8

¥* OPHM) ®’ XJ": IEI(N/MB ) Gs: 9.+ e M2 S0

WV = g b) gy
V= 482 19494493

no: of iucks _  1AMNTE — 1294 truck.
5
Cost = (19.6)(339) + lo(1944.423)

= Y860 + [9444.93 \
. §%044.23 NIS f

R opHon @: JJ - 13 KN/w? . Gs= 2F . w-F9%
Sd V= Udcog Nog  —s N=2243.635 w8
no. of Hacks = 149.576 Lrucks

Cost = (1Uq9536) (300) + (2243435)
= 6330915 NTS 5




EaoTe: € Cono'mfﬁal

1

¥ option




QB') @ OPHW‘UM Moistule content = f5é o/o
@ Maxfmum c‘)ﬁ c{gnsfj——- .649 Ca/sz
@ l‘: deax (H‘ (A))

= Ldu2 (14 ais¢)
= ‘-%qgj/Cmg

@ Poe = Xd(meie,fou
d(max)

X"’(’P"dcl) = da e - ((-6‘12)
= "Scigj/C‘MS



Qq’) At poind A ‘<E'—‘- 9 #lo”* Cm fsec ]

A4 point R {(g

At point C . Kg' -

)

—
—_—

U[)or all 301‘15 : l(E =

- k2H2+ kS&
“2+H2

g, g
4 1410:3415 & WO T

lo

= O, %33 # lo—z CM/SCC

Hy + Hi
Ho e K
k'-f H

25

R S
2 ¥lo—3

2 ¥lo3 Crn/_(a

KW+ KaHa + kals

—
e

Hige + [

L35 i Cm/jec




Q+ Pol‘M' Q: total ’\eac{:: 55+ 20+ lo
- 85 Cpm

c’e»odr!'on }18001 & 30 @m

-Poré, W ader P@SSW’C = XJ I’\w

= 9L 4’(_55_’.
6o
= 54 /<N/,h2

A+ POI\M B: “’O‘l‘al Lneao{= 30 + (O =-Yo Cm

Alaay &{ew#on head < o Cm

t)on@_ Wadte Pressufc’ = Z’w ‘nu)
L oo C_:s‘_o_)

[os

5 e 1<N/m1

A+ Fof‘rhL E: Hotal ;\eac/: (?6— SS—IGJ + 3¢ & fe
B oo

dwah‘oy\ }1€0~C(:: L{O Om

——

[oo

962 [C%z ﬁ

el

pore. waker presswe < 9.8 (Zo)

i)




